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BUSINESS MATHEMATICS AND STATISTICS

Full Marks : 100
Pass Marks : 30

Time : 3 hours

"The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS
Q. No. 1 carries 1 mark each : 1x8 = 8
Q. No. 2 carries 2 marks each : 2x5= 10
Q. No. 3 carries 3 marks each : 3x5= 15
Q. Nos. 4-10 carry 5 marks each : 5x7 = 35
Q. Nos. 11-14 carry 8 marks each : 8x4 = 32

Total = 100
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1. Answer the following as directed : 1x8=8
were AR TPl Tes fers

() 1 kg =____ pound (Ib). . |
(Fill in the blank)
1@®=_ % (lb)! S

(18 3% =@ )

(b) Selling price = Marked price — .
(Fill in the blank)

REmmw=fRey@- _____|
(41 3 °F )
(c) If SP> CP, then SP-CP=_____.
 (Fill in the blank)
% SP> CP, (8 SP - CP= _____| |
(1FA IR T 391)

(d) The survey based on sample observation is known as
sample survey. . '
(Write True or False)

oiforr S @[ TR F T1 AN eiford TR T |
(TS ¢ BT fera)

(e) Statistics cannot be misused.
(Write True or False)
sfR-Rem @fare go 921 #R @R |
(37 (<1 =T fore)

() Find the value of x, if
x 3 W Refq F11, I
4:x=17:42
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(g) Write True or False :
7 (7 PTey fora
‘ ].Og a= 1
(h) What are the coordinates of the origin in coordinate

geometry?
- FAIE TR TR wmes 59

2. Answer the following questions : 2x5=10
TR 2RPIRY Ted fore

(@) fa:b=2:5and b:¢c=4:7, then find a: c.
WMa:b=2:59Fb:c=4:7, e@a:chfzm

(b) Find the distance between the pair of points (0, 5) and
(12, 0).

(0, 5) =1 (12, 0) Regmm g et =1

(c) Subtract 1:8710 from 1.54125.
1-541253 *@1 1-8710 figys 741 |

(d) Simplify :
9 9T
2n+2 —on

2n+3 + 2n+2

(e) Write down the two formulae for calculating area
of a circle and area of a semicircle respectively if
radius is .

TS OIF WS SRR e 91 7 51 B 3 P e
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3. Answer the following questions : 3x5=15
| o PPRE Teq o
(a) If a:b=2:5, then find (2a+7b): (7a - b).
fa:b=2:5, @@ 2a+7b): (7Ta-b) AT

Or / &
Find the value of log, J6 +log, \E

10g2\/€+log2\/%?ﬂﬂﬁ‘fﬂ?ﬁﬂ

(b) Neeta bought a saree for ¥2,500 but due to some
defect, sold it for ¥2,300. Find the percentage of loss.

e 93 A 2,500 T M R 1N @ @RS
2,300 5re R FREE | T0F ERE Pefy 41 |

(c) The perimeter of a triangle is 540 m and its sides are
in the ratio 25: 17 : 12. Find its area.

<ol faged AR 2 540mmmq‘w<ﬂiﬂ]— EXG|
25 : 17 : 12. TR FIfs AT )

(d) Solve :
YN T ¢

S
x= 25

Or / i

10
3

(e) Show that the points (3, 1), (9, 7), (-3, 7) taken in
order are the vertices of an isosceles right-angled
triangle.
oeT @ (3, 1), (9, 7), (=3, 7) Ry b1 R e
fargers Mg 29

3x .|.._.1_=
X
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4. Answer either (a) or (b) : 5
(@) (b)3 Te1 4 : |

(a) How much percent above CP should a shopkeeper
mark his goods so that after allowing a discount of
10% on MP, he gains 15%?

TGN 799 8*{S 10% @eo IR R B RE IR FaEm
e 15% S IR 2, T (CP)T ee o fem
3 IR FTilRegem a1 FRq =R 9

(b) The perimeter of a rhombus is 100 cm and one of
its diagonal is 40 cm. Find the other diagonal .and
its area. :

@bl T9=T AW 100 cm wiF WA 9v@ F¢fq & 40 cm.
ITROA Sl 909 (rei e et e 4 |

5. Answer eithef (a) or (b) : 5
(@)q (b)I TSI :

(@) A mixture containing 61% pure ghee is prepared by
mixing pure ghee with 117 kg of vegetable ghee. Then
40 kg more pure ghee is added to the mixture. Find
the percentage of pure ghee in the mixture. '
9B Rrs 61% Rum /e g ' Rew fes @@ 117 kg
AR [ gl o0 41 40 kg we Rws Ko M=t 0 T4
Reercre o1 Rum {1 «ifRae Refy 1 1

(b) Find the area of a triangle whose three sides are
26 cm, 28 cm and 30 cm respectively.

9B fapes I AT 391 o qEh T @IfREE 26 cm,
28 cm 9¥ 30 cm.

6. What are the limitations of statistics? 5

ofeiam-Rers Maermz & &2
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Or / 7%

Write what you know about the functions of statistics.
“IfPR-Remy IReRer Ry o & =, fan

7. In what ratio does x-axis divide the segment joining the

points (4, 5) and (1, 2)? 5
x-57% <51 & Speee (4, 5) WF (1, 2) TERR (que R 3@ 2
8. If log, 3 =a, then find logg 27. 5

Ift logy, 3 = a, (93 logg 27 A F41)

9. Show that
YSA @

E)_g_a_x- = 1+loga b ' 5
logap x

Or / 7131

If the parallel sides of a trapezium are 24 cm and 52 cm
and the remaining two sides are 30 cm and 20 cm, then
find its area.

3fi b1 GPIRRNE S FE! 24 cm W 52 cm SF 9 10 I
30 cm ¥IF 20 cm ¥, (@ WK I Refyy F41 |

10. Explain the important points to be noted while framing or
preparing schedule or questionnaires. S
SEPI0! SIF 2T oS IS N FRIe 137 RIWCFL! I 1

Or / &

Explain the various methods of.collecting primary and
secondary data in brief.

AT /T T wie B [HT O g I [{ew HSTR T
LT 49
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11. (@) Solve :
S S0 -

(7)

2x—‘2 +23—x =3

(b) Discuss the advantages ofl sample survey over census.

Or / 341

Explain briefly the scopes of statistics in business.

IS ARPRAI-ReEwT <1 oyt T = |

PreTsts 2femd AN Rypg S 1 |

12. (a) Distinguish between census é.nd sample survey.

orme o oifSmf SRFT Nreg onefas B )
Or / &1

Discuss the different stages of statistical investigation.

ARPIRRIP SrpTaee RiSn womz swEm 7= 1

(b) What do you mean by statistical data? Name two
methods of collecting primary data.

FARARIF SV e & o0 enxfie orfims wu ReR T oA

By 91

13. (@) Draw a histogram of the following data :
O OYPTRT ¥ T RSP 91 ¢

Class interval
I SFT

10-15

15-20

20-25

25-30

30-35

| Frequency
| SIESIR)

30

55

80

60

45
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(b) What are the uses of diagrams and graphs?
| . foq = @4-93 IR R R 2

[ Contd.



(8)

14. Prepare a frequency distribution table from the following
data taking the class interval as 21-30, 31-40, ..., etc. :

21, 20, 55, 49, 48, 46, 36, 54, 42, 30

20, 42,
39, 45,
41, 26,
54, 36,

32, 40, 34, 31,
37, 33, 51, 53,
52, 48, 25, 34,
41, 33, 23, 39,

35, 37, 52, 44
52, 46, 43, 47

37, 33, 36, 27

28, 44, 45, 38

Also find (a) the frequency density of each class and
(b) percentage frequency between 31-40.

4+2+2=8

T SR °[{l 9 IREel Remm O oge 3 | W SRARPIR
21-30, 31-40, - @ 41 A4

21, 20,
29, 42,
39, 45,
41, 26,
54, 36,

55, 49, 48, 46,
32, 40, 34, 31,
37, 33, 51, 53,
52, 48, 25, 34,
41, 33, 23, 39,

36, 54, 42, 30
35, 37, 52, 44
52, 46, 43, 47
37, 33, 36, 27
28, 44, 45, 38

() =R AT R[S Ty AT 31
(b) 31-40 F &S IFT ILAITON 1 T Tforea |

Or / 733y

Write a note on the main points involved in the
construction of frequency distribution tables. Also define
class interval and class limits.

IRFR Rowem eI e IS 97 (@9 T REPHRI @o[ge @b
Bt Torat | Ferce ot @At oI aR S iee B o
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